(—Front face fr_nsmission.

<7}
3 Studs M12 Egquispaced
as shownon g @96
|
-—Tr—us,s
| J 34
- 39
s $33.6 410 462 A 3
+ 4 —_—
H 3 0ang
o228 &l «57lang. = y
L1
: 45 Spling —re—ar—i=——26.5 ! fj
L L1t 9864 ¢
VIEW_ON ARROW A - ORIYE FLANGE / ABSORBER ASSY. s
RAP SECTION THRO
{Seale 1:6 N AT Mg g3 57
" sog f e A (Scale 1.47 .
VIEW IN ORCLE '8 - INPUT SHAFT
3
77 Abscrber assy.- Traps.vibratipn. (Seale 1:4)
ER 2.2 . .
. Lrive Fa%_ (4} 2 Holes ¢ 112§ 45 x 21,5 thro. (©) 3Holes @11,52] % 22,5 thro,
. 2 Holes & M10 x 22,5 thra. (H) & Holes @112 . x 22,5 thro.
_Shid -, - ,-e]B Nut 317 (T) 2 Holes @ M10 x 25 thro.
f M1z { P CBored @ 1275 %0427 x 6,6 deep nom.
BILTS J
N d1zmax (D) 3Hales M10x 22,5 thro.
A — : _%@S#ai%{_h Hole marked ¢ 25 deep,17full thed.
(€)1 Hole @ 12,45+ 25 x 13 thro.
L
- G006 ~
wﬂ—ao?g q—rB ® 1 Hole M6
! .
|.-—Face A B0
3%, 985 ————-n
SCRAP SECTION IN CIRELEQ% 28271
f———224,51 —-
156,564
9,46
075 17,272
3 | U |
e ~48,02
68,58 B 49,88
{&
¢ Ehanga shaft : ) 126,98
tsa ] 26, / @;‘t} /@z @ !' 141,67
D - . T .
Trans.,k =f ' - L LA o —7 i
et A By _J/ ) i 150,57
155 Mizs: T ]
b =
/-Face A 3 %{D @
667, Tref.
; - 1350
=188, b ——=t
b —e-225,0t ——e
264, 66
INVOLUTE SPLINE DATA Section A- & Section B-8 2Th bk
N°of teath 23 26 335,26 !
| Pressure _ Angle 30° 55° ! i
Base ¢ 21,0799 19,457 318,17 {
Ref @ 24,341 21,511
Tig @ 75,6392 § 179 78,632 0,4
Root 9 22,839 max. 26,825 max.
Tocth thickness  Actual 1,557 min. 1.812min.
Effertive 1,636max. 1,885max.
Fin_ & 2,032 2,032
Nimension _over pins 27,285 min. 30,879 min
Helix Angle 19" - RH.

- 1

1 " Transmission

I
\— M§ Hele thrg .

Z Electrical conn. -rev.light switch

779
740 -te
G 1o
13,5.
- Yﬂeverse light switch \

2 4 R
GEAR LEVER MOVEMENT

/—Fate A

Gear Ratios
DoHC

1st - 3,89:
2nd, - 2.08:
3rd. -1,3%:
Gth. -1,00 ¢
St -0,82 :
Rev. =391 :

PR G A Gy

Input torque
Weight

Qit Gapacity

0Oil spec.

Speeda drive gear-

Cirrr

601521,5

250Nm.
30kg.{ dry)
1,2 lilres.
A TF

Dims are in Millimetras.
3rd. angle projection.

Thnmbh =l A SR TR Py F PS™A LA A BN

1NNy, —
faiem el ]
AL esﬂg't RSO
Ggg D t 172
F ’ Lys ~
i VO <3 |
365 M6 x1.5 -
i Dif drain.. <2 Holes @ 11 thro. ' L 110
520

END VIEW LESS ABSORBER ASSY

VERTRAULICH

CONFIDENTIAL
IID I2IZ| ¢3D ldU I5ﬂ lS(:l l?O IBI:} IBU 00 110’120mm

OBEN ANGEGEBENER MASSSTAS DIENT NUH ALS BEZUGNANME
ABOVE SCALE FOR REFERENCE ONLY

REFERENCES’ Lajest change Jul. B3

%7‘{@ lon.re Jun. 87 cK. |APP.

NICHT ABMESSEN IMASSETAB 1:58 SCALE{ DO NOT SCALE

PART NAME INSTALLATION - TRANSMISSION ASSY.
5 Speed MT 75 for use with DOHC _Engines in Sierra [Scorpin ]

TEILNUMMER/PART NR. 4
TNN-27R-A




